Division by 3 digit numbers

Name: Class:

Divide

23987 + 340 = 44987 + 660 = @

21,098 + 560 = 17,000 + 310 =

44,098 + 490 = 16,511 + 250 = 66,989 + 860
76,981 + 930 = 45,768 + 940 = 19,999 + 350
21,112 + 430 = 48,987 + 580 = 55,555 + 660
75,004 + 950 = 44871 + 590 = 32,541 + 570
44863 + 520 = 45,735 + 570 = 19,004 + 730
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Divide

23,987

21,098

44,098

76,981

21,112

75,004

44,863

= 340

- 560

= 490

= 930

= 430

= 950

- 520

=70 R 187 44,987

=37R 378 17,000

=89 R 488 16,511

=82R 721 45,768

—49R 42 48987

— 78 R904 44,871

=86 R 143 45,735
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Answers

+ 660 =68R107

+ 310 =54R260

+250 =66R 11

+ 940 =48R 648

+ 580 =84R267

+590 =76R 31

+ 570 =80R135
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(s0)

66,989

19,999

55,555

32,541

19,004

- 860

= 350

= 660

= 570

= 730

=77 R 769

=57R 49

=84 R 115

=57R 51

=26R 24



